rBa%kwe—nJ T

y=sin(f(x)) o735 7%-5< % u1248

y=sin(ax+b) os 7 ofixk

y=2r y:rax-q-b

FFy=ax+b O/ 7 7 EHiE £,
y=0f£,ﬂ,§£,2ﬂ
2 2

2= XOMEX=a,B,y,0,6 2%
Kb D,
FAMKITFEH R — b TF

BBV CY=2r BXthe T HELIICLET,
FIZBNT, y=47,6m,87--- & Xl & —EH g FET,

TAHE, ZARETT,

BHIEENORAHE, ZARSIITRD T,

d & .
> —an y=sin(ax+b) ors iz g,

w -
'-|.t




2. y=cos(ax+b) onrs>

cosé =sin(6 +%) e Sin D 008 £ < BT, %%%fiaﬂ%&of SF Y EIET I LV,

ST EDZ DIREED G
XHh23— FIc< B L HIZHEE L T

ZARREE T,

—nn y=cos(ax+b) or 7o,

ZOXCLTEEYy=T(X) DI T 71D,
By =sin(f (X)), y=cos(f (X)) D757 %> 52 LN TEET,
ZoNEE o —n) LESZEICLELE D,



3. WAWALRMEEKE Bae—1] LTHED

dh.

| -

T
=2X+—
Y 3

. T
=9n(2X+—
2y =sin(2x+=)

ko

y = cos(2x+ %)

— ]
ox y=Xx
O x
¥
A A AT v Sn(x®
ey Y =sinix)
¥
AT, NI v = cos(x?
AV VARt IR

LN

e

y—sin(1x+£)
3 2 3

.
L

o~ A= cos(%x+%)

y =log x

y =sin(log x)

y = cos(log x)



(B —/v) ORGUIBEEIZITICE EF 0 A, BlxIE,
X=8ny ., X=cosy . x=tany (—%<y<%)0)7‘§7

(ZO—HETH =AM D S T 717 £9) & [Be—) LTAHAELL I,

¥ b
X=s8ny X =Cosy
x O X
¥ ¥
Dz - Eg -
- Fod9n Zdsn
¥ ¥
E ) % @ COS ? 7 % @ COS
¥
X=tany

Zomsin

© * Z @ COoS

—2A5~X— http//mathstudio.ninja-web.net/ w1248 EEHECY ] THIR



